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18. (1) kM. ERTW 1pcp_ 4 B.c,D, ' - AB=BC,. BD 1 AC-

X AA LT ABCD, BD C i ABCD , .. A4 L BD."» ACH A4 = A, H AC, A4
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- BD LT AAC,C, *» BD —Ti BDP , .. i A4C,C L i BDP
(2) LD}, 41BN DA, DC, DD, 4 x, y, z i S5 6 E £ AT 7.
B CC, =3,. AB=6, . D(0,0,0), B(6,6,0), B(0,6,]). % P(0,a,3),0< a<6.
W BDE Hy— A5 m = (x, %)
DB'=(66,0),DB m=6x+6y=0.DE=(0,6,1), DE- mx 6y+2=0.
B 3 gl 618 B == )
i PBD —MEFH# N 1 = (x, 9, 2).
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19. (1) HE&ZEH: b =a’+c*-2accosB ,a’* —2¢* =a* +c*—2accos B

. 3¢* =2accos B,3c=2acosB
HIEsZE®: 3sinC =2sin Acos B
3sin(A+ B) =2sin Acos B ftfijfF: 3cos Asin B =—sin Acos B
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S.3tanB=—-tan 4 .". -3.

(2) tanC=-tan(A+ B)=— A0y ilan ,H (1) Fltan A=-3tan B
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P(4,)=0.25, P(4,)=0.3, P(4,)=0.45,

P(B| 4)=0.06,P(B|4, =P(B 4 =
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P(B) = P(A[)P(Bl A,)+P(A2)P(B | Az) +P(A3)P(B| As)
=0.25x0.06+0.3x0.05+0.45%0.05
=0.0525,
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A=4(n2—t2—4)>0 : ﬁIiﬁB(ngJ’z) > M(x3,y3)

BT kyy, -k, =——5=——Hky, =2k,
a 4

: 1
&l xzij'x3y—32=_5’ El](n2+2)y2y3+n(t—2)(y2+y3)+(I_2)z:0

EI](nz+?.2)(t2 —4)+ —2n22t(t—2)+(t_ 2
n +4 n +4

22. (DA h(x)=acos2x— = h(0)=a-2
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2
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Hxe (—%,O)HHL, >2,0<cos2x<d

<0 I L i

a2 h(x)<2- :
1+ 2x

4
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Ha>2,h'(x)=-2asin2x+ i‘—’l—%<x< O, A'(x)>0,
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A me (=1,0) £ h(m) =0 , TG ERE MR LR L, a> 2.
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X h(0)=4, i) =-2a+
4 (1+%)2

FTLAMTAE ke (0,%),h'(k) = 0,76 (0,k) Fh'(x) >0, 7 (k,%)i:,h'(x) <0
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f(x) (O’%) AR A, ) RELO, x, ) b i (xo,%) o
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X £10)=0 BB (x> o,f(-’zf—) = —In(1+ 7)< 0,
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GYJAEWI: 2x, > x, 1K 2x,, x, € (xo,%-) LR EES] £ (2x,) < £(x,)=0
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(1+2x,)cos2x;

f(2xy) = %sin 4x,—In(1+2x,) , Q)% a =

2sin2x,

sin4x, .

LA f(2x,) =
i) (1+2x,)cos2x, 1+ 2x,

—In(1+4x,)

4x,

A] DAEBH: 2x, > sin 2x, 18 f(2x,) < T
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Fillo(x) <@(0)=0,T=& f(2x,) < 0,rbA 2x, > x,
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T cos2x, < cos x, , X cos 2x; = ——
(1+2 ya

it uﬁ# < cosx; , X (1+2xy)a >0,
(1+2x;)a

FrAF a(142x,)cos x, > 2.





